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------------------------------------ = (Net Present Value) JRR YT (1)

-------- s = (Internal Rate of Return) J’%C/"&:u’l (i)

,%yz‘f. ............................. g_g,g(/,/ﬂg,%c_,‘ﬁ,:;,, (i)
2= SR (Cost of Capital) =/l (iv)
S e Formula ¥ Operating Leverage %)
Q —UZC':‘I-/ ---------------------- J(a?l’é (Fixed Cost) aﬁJJ}y{Jp/{ (vi)
4/]2‘."/- ----------------- _Ltgtfl/{j[Daily Requirements d//@ugc.—gﬂ/«;o) (vit)
—e (MiX) o B (Capital Structure) 3ol (viii)
— A=¥ D/E Ratio  (ix)
-QV?&UV:”U’J&_} .............................. ,{;}Z EBIT-EPS (x)
(29

- La?rf(Mcaning) (z’j"éiubﬂé‘:(Deﬁne) ..—EJ/FJ(Financial Management) (wj‘f&yt )
(Time Value of /ﬁ&Ad/JJ(Concept) 159 ¥ (Modern Financial Management) g@"&?t&g (3)
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~ZE ke (Types) (IIL (Cost of Capital) =B GL -~ (4)

- VL:LV/(Welohted Average Cost of Capital) JULLL/L/:U'U/;JJ_,LPJ;J (5)

Source of Capital] Book Value Specific Cost of Capital (%)
Equity 10,00,000 18%
Preference 2,00,000 9%
Debt 18,00,000 10%

tax rate = 40%

&/;/J(Investment) d/(,:(./ Rs. 10,00,000 u:u’c‘_&w/dm;;&jﬁg Ashoka Builders Ltd. (6)

~UIUAUY Expected CFAT'sL (1o

Year CFAT
1 4,00,000
2 2,00,000
3 3,00,000
4 2,50,000
5 3,00,000

_g‘fr)“’/ Profitability Index (PI) -« 10% = (Cost of Capital) JUU;L/

-<-s%2 ¥ (Alternatives) J}(}»J‘g&u"gj_éi_/c;/&_‘,g?u?-c‘;aﬂ/%(l{s. 6,00,000 S MNC L

(7

I 100% Equity (6000 shares @ Rs. 100 each)

1L

D_2-15%)
E 1

Tax Rate = 40%

-g{(:l”’f Financial Indifference Point

_gi.:()l’”/(th Present Value) /ﬁwﬁ}"]&}c,uJ:,U"”Jj-,/} (8)
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Initial Investment =

Rs. 2500

Risk - free rate = 7%

Risk - premium = 5%

_c.’:rﬂ“'f(Market Price of Share) JJ/ULJJ"J u"C/’u’l Lyl”gf Suraj Chemicals Ltd.

Earning per share
Dividend Payout
Cost of Capital

Rate of return

= Rs. 4
= 40%
= 15%

= 20%, 15%

(9

-2 Gordon's Valuation Model
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Dividend UL LU/ 2 10% = (Cost of Capital) /UL se EPS = Rs. 100 § Dunhills Ltd  (10)
21 15%, 10% up‘/Rate of Returns £ 1 50% s 100% fieo8y (Alternates) J:P‘»c_‘LL Payout
- 5%
-_‘épj"/ (Market Price of Share) w=.d d/lJ.Ld/ J‘Zig! J&1Y” Walter's Valuation Model
_éug/('l‘ypes) rL:”JE"'ﬁJl?c‘_;l/gc__ (Working Capital) :L//K (1

1,20,000 unitsgﬁ’-‘l;f;,fz-g‘::(pl"’/(Working Capital Requirement)au/bd;t//Kc:_ud/:lrdn’jﬁx) (12)

~e Gt
[tem per Unit Rs.
Raw Material Rs. 70
Direct Labour Rs. 30
Direct Overheads Rs. 50
Cost Price Rs. 150
Selling Price Rs.180

Raw material in stock = 1 month, Work in Progress = 1/2 month, Finished Goods = 1 month;
Credit Payment Period = 1 month, Debt Collection period = 2 months, Lag in wages = 1/2 month,

Cash in hand, = Rs. 40,000

-¢22 (Aliemates) b (3) f UL L Ute 5t/ Rs, 50,00,000 Lo Standard Ltd  (13)

1) All equity (50000 shares @ Rs. 100 cach)
2) Debt-Equity = 2:1
3) 30% Debt, 50% Equity & 20% Preference

Rate of interest on debt = 9%

Rate of interest on preference = 8%
Expected EBIT = Rs. 20,00,000
Tax rate = 40%

-c- ()¢ (Alternate) J:QVQU@.DJ:’{&JW‘,% EBIT-EPS

,c_‘_’q_",){ (Importance) :41&/1/;' ‘@.lfLeaverage (@ (14)

_’4“._(2:4}.,‘}/;((\51 (4) JLV(E[L (Inventory Management)g@‘%/?} )
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